10000£100

&) 1 | 55 csg | [ (@

3.540.5 3.540.5

(S2}

oo
8
DR
=
=~
-

oo

3o

o)

=

=

-

o3 |E] i [f— B m (g

PIN ASSIGNMENTS

P1 P2 Pl P2
e A T 15
— — BLACK
2 VTR, 2 16 16
3 3 e ——— ~
RED I i R
6 6 18 BROWN A R
GRENN A/ opray O\ S/
T T 19 - ~—19
NOTES: o WA gy Ml
1. 100%0PEN, SHORT & MISWIRE TEST. 1‘1] VT 1? 2‘2‘ oo\ 2‘2‘
2. PAY ATTENTION TO PIN ASSIGNMENTS. 14 ~ELLOY 14 SHELE BRALDDRAIN SHELL
TOLERANCES REVISIONS COMPONENT NO :
X s REV DESCRIPTION DATE APPVD. | DVIP/DVIP-S10 Arvanlcs COYDOTatIOH.
- m APPROVED :
LA m TITLE : CABLE ASS'Y
XX+ % CHECKED - REQUIRED DOCUMENTS : *
XXX+ m SCALE : / SHELLT :1/2 | REV:0
- DRAWN DRAWING : mRME AN |
METRIC (mm) DATE : FILE - prosicrioy ~ |

GM-EW-01



NO | DESCRIPTION MATERIAL
1 CABLE UL20276 (24#*1P+EAM)*4+24 # *5C+AEB85% OD: 9. bmm
CLR-243 BEIGE
2 CONN DVI(18+1) MALE PBT BLACK PIN G/F
3 CASE SHIELD|DVI SHIELD ID:11.0mm PLATED NICKEL
4 SHELL DVI(18+1) MALE SHELL TIN PLATED
) PVC SHORE A 95+2 COLOR:BEIGE
6 TUBE  |UL/CSA 125C VW-1 (F4) 300V @1.0mm BLACK
7 TUBE UL/CSA 125°C VW-1 (F4) 300V ®3.0mm BLACK
8 | DUST COVER |CLEAR
9 OUTERMOLDED| DVI ID:10. Omm SHORE 95+5/-2 CLR-023
10 SCREW DVI SCREW 2. 8%*31. 5mm#4-40 MOLDED ABS COLOR:BEIGE
11 | COPPER-FOIL |W8*T0. 04mm
TOLERANCES REVISIONS COMPONENT NO :
\ . REV DESCRIPTION DATE APPVD. | DVIP/DVIP-S10 Arvanics Corporatlon.
mm
- mm APPROVED :
LA m TITLE : CABLE ASS'Y
X . XX + IIII]1$ CHECKED : REQUIRED DOCUMENTS : *
XX+ m SCALE : / SHELLT:2/2 | REV:0
- mm DRAWN : DRAWING : meNE AN |
METRIC (mm) DATE - FILE - provection ~ N\ |

GM-EW-01




150004150

HH
dg 4| [0 @)
e
3.540.5 ‘ KEY
DG !
9101 P2
iy = ||
| I |5
PIN ASSIGNMENTS
P1 P2 Pl P2
L A~ 15 -ORANGE 15
RED{ ? { ? BLACK
; \ /RN A\ / z 16 R . 16
17 Y
g RED 6 g Ltod | XX g };
GRENN ‘\\/I' DRAIN \ JI
7 T P 19
NOTES: DO GAN I FTADCGAN.
1. 100%0PEN, SHORT & MISWIRE TEST. 1? VI, 1? 2‘2‘ /oy 3‘2‘
2. PAY ATTENTION TO PIN ASSIGNMENTS. 14 ~YELLOV 14 SHELL LR A SHELL
TOLERANCES REVISIONS COMPONENT NO : . .
. s REV DESCRIPTION DATE APPVD. | DVIP/DVIP-S15 AfVaHICS Corporatlon.
o APPROVED :
X.X f $$ TITLE : CABLE ASS’Y
XXX+ 1;}1[11 CHECKED REQUIRED DOCUMENTS : *
X XK+ SCALE : / SHELLT :1/2 | REV:0
- om DRAWN - DRAWING : N
METRIC (mm) DATE FILE - provection ~\ ) |

GM-EW-01




NO | DESCRIPTION MATERIAL
| CABLE | UL20276 (243¥IPHEAM)*¥4+24 2 ¥5C+AEB85% OD:9. 5mm
CLR-243 BEIGE
2 CONN DVI(18+1) MALE PBT BLACK PIN G/F
3 | CASE SHIELD|DVI SHIELD ID:11.0mm PLATED NICKEL
4 SHELL ~ |{DVI(18+1) MALE SHELL TIN PLATED
5 PVC SHORE A 95+2 COLOR:BEIGE
6 TUBE UL/CSA 125°C VW-1 (F4) 300V ®1.0mm BLACK
7 TUBE UL/CSA 125°C VW-1 (F4) 300V ®3.0mm BLACK
8 | DUST COVER |CLEAR
9 | OUTERMOLDED|DVI ID:10.0mm SHORE 95+5/-2 CLR-023
10 SCREW  [DVI SCREW 2.8%31.5mm#4-40 MOLDED ABS COLOR:BEIGE
11 [ COPPER-FOIL |W8*T0. 04mm
TOLERANCES REVISIONS COMPONENT NO :
‘ b m REV DESCRIPTION DATE APPVD. | DVIP/DVIP-S15 AfVaﬂlCS Corporatlon.
- mm APPROVED :
LA+ m TITLE : CABLE ASS'Y
X.XX +  mm CHECKED - REQUIRED DOCUMENTS : *
- mm
XXX+ SCALE : / SHELLT:2/2 | REV:0
) rmn DRAWN : DRAWING : mRNE AN |
METRIC (mm) DATE : FILE - proJECTION ~ \ |

GM-EW-01




EEE

200004150

] &
3.5£0.5
2 X3 X4 X5
6 X7 XOXL0
o 2| mn [ e A 0ITEN IR &
5 <Z: HF :|H E C
PIN ASSIGNMENTS
P1 P2 Pl P2
1 WHI];E\" """""""" wa¥ 1 15 ORANGE 15
RED{ ? { % BLACK
2 A/ DRAIN N\ 2 16 16
3 3 WHI Tfgoeeroeseoesees o~
6~ 6 g OB - }Z
NOTES: o W g WA
GREEN i I i P
1. 100%0PEN, SHORT & MISWIRE TEST. SRV IRV VTRV
2. PAY ATTENTION TO PIN ASSIGNMENTS. 14 ELLOV 14 SHEL—CRALDADRAIN SHELL
TOLERANCES REVISIONS COMPONENT NO : . _
N 1 DESCRIPTION DATE | APPVD. | DVIP/DVIP-S20 Arvanics Corporation.
L APPROVED :
LAs TITLE : CABLE ASS'Y
X.XX +  mm CHECKED : REQUIRED DOCUMENTS : *
- mm
XXX+ SCALE : / SHELLT :1/2 | REV:0
) mm DRAWN - DRAWING : meNE AN |
METRIC (mm) DATE FILE - proJECTION — N\ |

GM-EW-01




NO | DESCRIPTION MATERTAL

| CABLE UL20276 (24#%1P+EAM)*4+24 # *5C+AEB85% OD: 9. Smm
CLR-243 BEIGE

2 CONN DVI(18+1) MALE PBT BLACK PIN G/F

3 | CASE SHIELD|DVI SHIELD ID:11.0mm PLATED NICKEL

4 SHELL DVI(18+1) MALE SHELL TIN PLATED

5 PVC SHORE A 95+#2 COLOR:BEIGE

6 TUBE UL/CSA 125°C VW-1 (F4) 300V @1.0mm BLACK

7 TUBE UL/CSA 125°C VW-1 (F4) 300V @3. O0mm BLACK

8 | DUST COVER [CLEAR

9 | OUTERMOLDED|DVI ID:10.0mm SHORE 95+5/-2 CLR-023

10 SCREW  [DVI SCREW 2. 8%31. 5mm#4-40 MOLDED ABS COLOR:BEIGE

11 {COPPER-FOIL | W8*T0. 04mm

TOLERANCES REVISIONS COMPONENT NO :

C L o |REV DESCRIPTION DATE | APPVD. | DVIP/DVIP-S20 Arvanics Corporation.
oo APPROVED :

XXt m TITLE : CABLE ASS'Y

XX o ﬁl]ﬁ]] CHECKED REQUIRED DOCUMENTS : *

XX+ mm SCALE : / SHELLT:2/2 | REV:0
Cm DRAWN DRAWING : s A

METRIC (mm) DATE : FILE - prorection P/ L]

GM-EW-01




30000+200

HH HH
@ 10 |4 3 9 | 10 |®
&
3.540.5 3.540.5
2 X3 X4 X5 2 X3 X4 X5
6 X7TXOXL0 6 X7TXOXIOXI T
a - — e
IERTTRE —: T mE|-
PIN ASSIGNMENTS
P1 P2 Pl P2
PRI i S 15 -ORANGE 15
RED{ 3 { f BLACK
2 VTRV, 2 16 16
3 3 17 WHIThrg oo oo A 17
5 L 6 1 BROWN :)C:)(l o 8
7 GRENN 7 o \\UII DRAIN \\ / o
NOTES: o Mgy g M
1. 100%OPEN, SHORT & MISWIRE TEST. VIRV, 1‘1) ;;1 VETEY 2‘2‘
2. PAY ATTENTION TO PIN ASSIGNMENTS. — , Jeiov 14 SHEL—SRADDRAN
TOLERANCES REVISIONS COMPONENT NO : _ ,
) . [REV DESCRIPTION DATE | APPVD. | DVIP/DVIP-S30 Arvanics Corporation.
[ — APPROVED :
LAt m TITLE : CABLE ASS’Y
XXX+ 1[:1]1[:1] CHECKED REQUIRED DOCUMENTS : *
XK+ m SCALE : / SHELLT :1/2 | REV:0
- mm DRAWN : DRAWING : mRNE AN |
METRIC (mm) DATE - FILE - prozECTIN ~ ) |

GM-EW-01




NO | DESCRIPTION MATERTAL
; CABLE | UL20276 (243¥IPHEAM)¥4+24 # ¥5CH+AEB5% OD:9. 5m
CLR-243 BEIGE
2 CONN DVI(18+1) MALE PBT BLACK PIN G/F
3 | CASE SHIELD|DVI SHIELD ID:11.0mm PLATED NICKEL
4 SHELL ~ [DVI(18+1) MALE SHELL TIN PLATED
5 PVC SHORE A 95+2 COLOR:BEIGE
6 TUBE UL/CSA 125°C VW-1 (F4) 300V @®1.0mm BLACK
7 TUBE UL/CSA 125°C VW-1 (F4) 300V ®3.0mm BLACK
8 | DUST COVER |CLEAR
9 | OUTERMOLDED|DVI ID:10.0mm SHORE 95+5/-2 CLR-023
10 SCREW  |DVI SCREW 2.8%31.5mm#4-40 MOLDED ABS COLOR:BEIGE
11 [COPPER-FOIL | W8*T0. 04mm
TOLERANCES REVISIONS COMPONENT NO
‘ - REV DESCRIPTION DATE APPVD. | DVIP/DVIP-S30 Arvanics COTDOfatIOH.
- mm APPROVED .
LAt m TITLE : CABLE ASS’Y
X.XX +  mm CHECKED : REQUIRED DOCUMENTS : *
- mm
XXX+ m SCALE : / SHELLT:2/2 | REV:0
) mm DRAWN DRAWING : me s /AN
METRIC (mm) DATE : FILE - pROJECTION ~ \/ |

GM-EW-01




Model:DVIP/DVIP-Sxx

P2
L(mm) 19 17
— (:
E NN
38.90mm (g E) als HHHH S
HA 4 c AN|
g 81 L) IN24
:C:/
Model L(mm) M.L KEY
DVIP/DVIP-540 40000=*=250
15.00mm DVIP/DVIP-S50 50000=*=300
47.90mm
PIN ASSIGNMENTS
P1 P2 P1 P2
1 WHTE o 15 _ORANGE 15
RED | | I
2 = — 2 16 _PURPLE 16
‘/ DRAN \ /
3 3 AT MWHTE e,
NOTES : RED 6 1g momi | a
1. 100% OPEN, SHORT & MISWIRE TEST. WHITE ‘\\ /i DRAIN '\\ /
2. PAY ATTENTION TO PIN ASSIGNMENTS. 7 19 S 19
9 WHTE~— o g 23 e 23
! 1 | \ H \ | \
10 GREENa\ R T 24 BLUE:‘ i SR Y
‘4  DRAN %\ / “/ _DRAN ./
NO | DESCRIPTION MATERIAL QTY 11 11 22 S 22
+
UL 20276(24#%1P+EAM)*4+24#*5C+AEB85% OD:9.5mm 14 YELLOW 14  SHELL SHELL
1| CABLE CLR-243 BEIGE 1
2 | CONNECTOR DVI(18+1) MALE PBT BLACK PIN G/F 2 COMPONENT NO : . .
3 | CASE SHIELD DVI SHIELD ID=10.5mm PLATED NICKEL 2 DVI-DVI 40M ArV anics Cor p ora tl on
4 | CASE SHIELD DVI SHIELD ID:10.5mm NO PLATED 2 .
5 | SHELL DVI(18+1) MALE SHELL GOLD PLATED 2 APPROVED : Model:DVIP/DVIP-S40, S50
6 | PVC SHORE A 95+2 COLOR:BEIGE 2 TITLE : CABLE ASS’Y
7 TUBE UL/CSA 125°C VW-1(F4) 300V ¢ 1.0mm BLACK 2 CHECKED : REQUIRED DOCUMENTS : *
8 | TUBE UL/CSA 125°C VW-1(F4) 300V ¢ 2.5mm BLACK 2
9 DUST GOVER CLEAR () é2.5mm 7 SCALE : / SHEET : 1/2 ‘ REV: O
10 | OUTERMOLDED | DVIID:10mm SHORE95+ CLR-023 2 DRAWN : DRAWING : mowE R
11 | SCREW DVI SCREW 2.8%31.5mm #4-40 MOLDED ABS COLOR:BEIGE 2 DATE - FILE - PROJECTION ~ \/ |




	DVIP_DVIP-S10.S15.S20.S30.S40.S50_Ver.1.0.0_Specification sheet
	DVIP_DVIP-S10_Ver.1.0.0_仕様書
	DVIP_DVIP-S15_Ver.1.0.0_仕様書
	DVIP_DVIP-S20_Ver.1.0.0_仕様書
	DVIP_DVIP-S30_Ver.1.0.0_仕様書
	DVIP_DVIP-S40_Ver.1.0.0_仕様書
	DVIP_DVIP-S50_Ver.1.0.0_仕様書

	DVIP_DVIP-S40,50_Ver.1.1.0_Specification sheet



